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Text S1. Other systems used.

1. System (S1.1): transmission by vectors in a host population without resistant rats
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2. System (S1.2): direct transmission in a host population without resistant rats
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Infections are here realised by contacts between susceptible and infectious rats, so disease propagation

is favoured by high transmission rates and limited by the mortality of infectious rats. The resulting

equilibrium states are shown on the Supporting Figure S6. The threshold R0 = 1 is reached for β0 = d+m.

The parameter K is not involved in this expression because transmission is supposed to be frequency-

dependent [1].

References

1. McCallum H, Barlow N, Hone J (2001) How should pathogen transmission be modelled? Trends

Ecol Evol 16: 295–300.


